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Constants to know and love: 
 k = 9 x 109 N-m2/C2 
 G = 6.67 x 10-11 N-m2/kg2 
 e = 1.60 x 10-19 C 
 me = 9.11 x 10–31 kg 
 mp = 1.67 x 10–27 kg 
 c = 2.998 x 108 m/s 
 NA = 6.02 x 1023 things/mole 
 ∈0 = 8.85 x 10-12  C2/N-m2 

 μ0 = 4π x 10-7  T-m/A 
mn = 1.0086649 u 
mp = 1.0072765 u                      
me = 0.0005486 u 
1 u = 931.494 MeV/c2 
1 u = 1.6605 x 10-27 kg 
c2 = 931.494 MeV/u 
1 Ci = 3.7 x 1010 Bq 
h = 6.626 x 10-34 J-s 
h = 4.136 x 10-15 eV-s 
ħ = 1.055 x 10-34 J-s 
ħ = 6.582 x 10-16 eV-s 

 hc = 1240 eV-nm 
 1 eV = 1.6 x 10-19 J 
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Dr. Jahncke’s Equations 
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